Derivation of the The Golden ratio 
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The ratio can be derived in two ways:

(i) It is the limit, as 
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 of a Fibonacci series

Fibonacci Sequence

The sequence is formed by adding the two previous terms:  
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1, 1, 2, 3, 5, 8, 13, 21, ………….a, b, c, ………

As  
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, the ratio of successive terms becomes the same.
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or         
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Fibonacci definition
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Substitute  (2)  into  (1)





[image: image9.wmf])

(

2

b

a

a

b

+

=






[image: image10.wmf]ab

a

b

+

=

2

2






Divide by  
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Let  
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and (1) becomes
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Or, had we chosen 
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  then  (1)  becomes
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(ii) The ratio 
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can be defined as below:

Construct a line AB, 1 unit long.

Divide AB at point C, such that
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Let AC be x units long, and since 
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Then (1)  becomes
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